An alkali metal will most readily react

with —

A another alkali metal

B an alkaline earth metal

C a halogen _

D a noble gas

O2, N2, Cl2, and I2 are examples of —

A diatomic molecules _

B compounds

C ionic compounds

D atoms

Which of these is the correct name for

KBr?

F Potassium bromine

G Potassium bromide _

H Potassium bromate

J Potassium bromite

The name for NH4F is—

F ammonia fluoride

G ammonium fluoride _

H nitrogen tetrahydrogen fluoride

J ammonium fluorine
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According to the Lewis diagram, a

nitrogen molecule has a —

A bent structure and a double bond

B linear structure and a triple bond _

C polar structure and a triple bond

D circular structure and an ionic bond

Cobalt, a transition metal, can have an

oxidation number of either 2_or 3_.

Which of these represents the two

possible chemical formulas for the

chemical combination of cobalt with

oxygen?

F CoO, Co2O3 _

G CoO3, C o3O2

H Co2O3, C o3O2

J CoO, Co3O2
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Which statement describes the above

equation?

A Magnesium transfers an electron to

each atom of the iodine molecule. _

B The iodine molecule transfers two

protons to magnesium.

C Magnesium shares an electron with

iodine.

D Iodine becomes a free monatomic

element.

Sodium iodide exhibits what type of

bond?

F Covalent

G Ionic _

H Hydrogen

J Metallic

	
	Heat of Vaporization 

	Substance 
	at the Boiling Point 

	Water (H2O) 
	539 calories per gram 

	Alcohol (CH3CH2OH) 
	204 calories per gram 

	Chloroform (CHCl3) 
	59 calories per gram 


What probably causes chloroform to have the lowest heat of vaporization?

F Smallest size of the molecules listed

G Smallest mass of the molecules listed

H Smallest intermolecular forces of

attraction _

J Fewest number of bonds

Which is the correct formula for iron

(III) sulfate?

A Fe3(SO4)2

B FeSO4

C Fe2(SO4)3 _

D Fe2(SO3)3
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Electronegativity differences are often helpful in determining the bond

character between two atoms. A

general rule states that if the electronegativity difference between

two atoms is greater than 1.67, an ionic bond would most likely be formed. Using the chart above, which pair of atoms would probably form the strongest ionic bond?

A Al-P

B Na-Cl

C K-F _

D Ca-O
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Which of the groups below has the

electron dot structure shown above?

A Noble gases

B Halogens _

C Alkali metals

D Transition elements
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According to the table, which of these probably has the strongest bonds?

F Hydrogen gas

G Iron crystals _

H Sodium chloride

J Water

Which compound contains both ionic

and covalent bonds?

F NH4Cl _

G MgBr2

H CH4

J NH3

Water has several unique properties

such as high boiling point, high

surface tension, and low vapor

pressure. The type of attraction that

best accounts for these unique

properties is —

A dispersion forces

B coordinate covalent bonding

C hydrogen bonding _

D ionic bonding

The correct name for MgI2 is —

F magnesium iodide _

G magnesium iodite

H magnesium (II) iodide

J magnesium diiodide

The type of bond found in magnesium

chloride is —

F covalent

G nonpolar

H ionic _

J metallic

The correct name for the compound

CCl4 is —

A carbon tetrachloride _

B carbon chloride

C monocarbon chloride

D tetracarbon monochloride

To indicate the number of atoms of

each element present in a molecular

compound, scientists use —

F Roman numerals

G superscripts

H prefixes

J subscripts

Elements from which two groups in

the periodic table would most likely

combine with each other to form an

ionic compound?

F 1 and 2

G 16 and 17

H 1 and 17 _

J 17 and 18

Which of the following describes what takes place when iron (Fe) is oxidized to Fe2+ ions?

A A gain of two electrons

B A loss of two electrons _

C A gain of two protons

D A loss of two protons

In chemical compounds, covalent

bonds form when —

F the electronegativity difference between two atoms is very large

G electrons are completely transferred

between two metals

H pairs of electrons are shared between

two nonmetal atoms _

J two nonmetal ions are attracted to each other by opposite charges

The formula for lithium nitride is —

A LiN

B Li3N _

C Li3N3

D NLi3

The correct structural formula for

C2H4 is —
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If the above diagram were the correct

representation for the Lewis structure

of a molecule, then the X would be

representative of the element —

A oxygen

B fluorine

C nitrogen _

D sulfur
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Chlorine and bromine are in the same

family in the periodic table.  According to the information in the table above, what would be the correct formula for sodium bromate?

A NaBrO

B Na2BrO

C Na3BrO3

D NaBrO3 _
When naming a transition metal that

has more than one oxidation number,

the numeric value of the oxidation

number is indicated by a —

A Roman numeral _

B Greek prefix

C subscript

D suffix

Which of the following is the correct

molecular shape of CH4?

F Bent

G Linear

H Pyramidal

J Tetrahedral _

Which of these elements contains four valence electrons?

F Helium

G Beryllium

H Carbon _

J Oxygen

The correct formula of an ionic compound containing Al3+ and CO32-

is —

A AlCO3

B Al(CO3)3

C Al2(CO3)3 _

D Al3(CO3)2
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The figure above shows a compound

containing hydrogen (H) and an

unknown element Z. To which group

on the periodic table does element Z

belong?

A 13

B 14

C 15 _

D 16

Which of the following is the name of

the molecule PCl3?

A Phosphorus trichloride _

B Phosphorus chloride

C Potassium trichloride

D Potassium chloride

Cations are formed when neutral

atoms lose —

A electrons _

B protons

C neutrons

D positrons

The formula for dinitrogen tetroxide

is —

A N2O4 _

B N3O3

C N2O2

D NO

Which element naturally occurs as a

diatomic molecule?

A Zn

B C

C K

D H

What shape does the molecule BF3

have?

A Bent

B Linear

C Tetrahedral

D Trigonal planar _
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